1. Given the data, find a cubic regression.

	Day(x)
	Sales(y)

	1
	200

	3
	400

	5
	100

	7
	700


Answer:_____________________________

What is the total sales from day 1 to day 7  using integration?

Answer:____________________

2. Suppose that during a trip, the distance traveled away from home s miles at time t hours has velocity function  
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 and s(0) = 12

a.) Find s(t)?
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     anti-derivative s(t)= -7t3/3+30t+C  Now find C  since s(0) = 12
s(0)= -7*03/3+30*0+C =12   so C=12  and s(t)= -7t3/3+30t+12  









Answer:__________________

b.) Find the acceleration at t = 3?

S’(t)= -7t2+30  s’’(t) = -14t  evaluate at 3  s’’(3) = v’(3) = a(3) = -14*3 = -42









Answer:__________________

c.) What value for the acceleration  is guaranteed by the Mean Value Theoerm between t= 0 and t= 3?

V’(c) = (v(3)-v(0))/(3-0)  = (-33 – 30)/3 = -21







Answer:_______________
3. Given the formula y = 9 – x2 . Find the area under the curve between x = 0 and x = 3 in the following manners:

Estimate the area with 3 rectangles of equal width using the MIDPOINT value.



Sum(seq(9-x^2,x,.5,2.5,1)*1






ANSWER:_______18.25________________

Find the exact answer using a calculator







ANSWER:_________18______________

Give the definite integral notation to describe this value.
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ANSWER: 
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4. Evaluate the integrals exactly:

a).   
[image: image5.wmf]5

3sinh

x

exdx

x

æö

++

ç÷

èø

ò

 =
[image: image6.wmf]c

x

x

e

x

+

+

+

|

|

ln

5

)

cosh(

3








ANSWER:_______________________

b.)    
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substitution


u=e^(3x)


du=e^(3x)3dx


du/3=e^(3x)dx







ANSWER:_______________________

5. Evaluate the integral using the provided method:.
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(Use geometry to solve)

Y2=9-x2
X^2+y^2=9  area of circle is pi R ^2   or pi *9
Half circle is 9pi/2  appox. 14.14….







ANSWER:_______________________
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(Use Fundamental Theorem of Calculus)
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 EMBED Equation.3  [image: image12.wmf]






ANSWER:_______________________
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(Use Substitution to solve)







ANSWER:______________________
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